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ford=r /INSTRUCTIONS
i T UL UF o T oeT g et Mot & A uee mor maar B

This question paper contains two parts and you have to answer all equations in both the
parts.

Bt o1 g Bifora 3 et w1y & ot mer s0 Umer Bl ued w0 1 A 10 & = &iw uly U2er
1 A 20 TR & G gioh Uy U2er TH 21 W 30 T2 B 5 gier ufea u=za &l
Part “A’ Mathematical Knowledge Test has three sections containing 30 questions. Q. Nos
110 10 carry 2 marks each, 11 to 20 carry 3 marks each and 21 to 30 carry 5 marks each.

4 HST @ AT FoT K @er o UST & | URA 1 TH 2 B 1515 3w B Oy S wost &
10-10 3 & I 9eT & IaT T RN Fr vE g BF mwr I forew awy
Part “B’ Language Ability Test contains 9 questions. Q. No. 1 and 2 carry 15 marks each
and remaining questions carry 10 marks each. In this part you-can write your answers in
any one of the chosen language only.

4. T 3Tor ST S/ meN FAE N B oy | U B = o
Write your answer in Blue/Black ink. Do not use pencil.

5. B @S I B oleTs U & Tyl
All Rough Work is to be done as space provided.

6. 31 U%a1 UF I @ 26 TS B
There are total 26 pages in the question paper.
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|03 “gr orfota/PART- A MATHEMATICS

gottes /Max. Marks : 100
0S5 — | /SECTION -1

(Uedreh U2al @1 Iah ol & )
(Each question carries two marks )
T2aT 1. 2, 4 5 O oJoiddl FsAfeTse JOTH Fid hioig ?

Find the lowest common multiple of 2, 4 and 5.

T2 2 U6 oUoidd FWAT Fa T ToTRIhT 322516 H TNSol A 543 A
ofa: geT faver o 3@ ?

What least number should be added to 322516 so that the result is exactly
divisible by 5437

U6t 3 T foharar o Ooiel 1 v 350 an &1 TE UST o 38 fohard @ on
FHAr & ar 25 el &1 avier fohaen arem ?

The weight of book is 1 kg 350 g. Find the weight of 25 boxes if each box
contains 38 books.
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U2dl 4.

Uadl 5.

Ual 6.

T2al 7.

231 I JIHNGT TJ0TaT |WUS Fd T

Find the prime factors of 231.

25 o1 fohae Tfdrgra 20 &8 ?

Express 20 as percentage of 25.

12% '3-6% D BT Harl

Find the value of 12l + 6i
5 10

fosaitetana gt o1 g gv ®#@ & o0 ( 521 Res > o
M —

Arrange the following fraction in descending order (Use of > symbol)
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Ul 8.

TUQal 9.

et 10.

16, 24, 36 ThT 10 10 TO Fd hal

Find the HCF of 16, 24, 36

TH FOGEE Ta IMSfHS 575 Fn 3 oD 75 w0 o Blifer 3STar
B goreRR d Bifer afazid Fa ®A |

A shopkeeper sells a cycle for Rs. 575 and incurs a loss of Rs 75. Find his
loss percentage.

T 3 030 G AT ST AUS 6:00 TN A1 U6 fhde To
afrer 7,

Ram slept at 9:30 PM and got up at 6:00 AM. How much time did he sleep?
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oS — Il /SECTION - I
(T u2e diat g @ &)

(Each question carries three marks)

TURel 1. Be A 10-2:x 3+3§—:2§

g S 1 B henl
Simplify 10—2§x 3+31725

U%al 12 TH IeENS! 70 foh N To w0 oY BIfer A werd Bu 560 o o g

aT ®mIAT Bl IS TR TG A AT HIA & AT @ FE
& |

A train covers a distance of 560 Km at a speed of 70 Km per hour. Find the
time taken by the train to cover this distance.

TSt 13. 5 el o NG BARE 13, 15, 11, 9 T 8 O ¥ A S drara I1g
e |

The age of 5 children is 13, 15, 11, 9 and 8 years respectively. Find their
average age.




T2 14 T Bhialc & oaas 6 A 60 7 A dem 2hzts 3 AN o5 oJ A B
TEIUT B TR dIG o T8N Bl o1 A SeEny Ja hfagi

A carpet is 6.60m long and 3.75m broad. The carpet is surrounded by a
lace. Find the length of the lace.

u2d 15, forsatafama =@t 3 oot ABC &1 &tet aag| R=EF & frgmamiy &
3TATST HAD |

Find the measure of the angle ABC in each of the following figures using
property of the given figure.




TRa 16,

TS 17.
-~

TR 18,
&)

TS adal & 4 o 650 A o B€ B 25 O 0 & Thaor forenadl o
TE JE UIEI GiST O AFHET

A container has 4 liters and 650 ml of curd. In how many glasses each of
25ml capacity, can it be distributed?

4500 I3 D K0T TUX T GAAR 900 5 FMENFOT OT 3 el &
fe gorater waar 81 wrer & @x IF B

A trader paid Rs 900/~ as simple interest for 3 years on the sum of Rs
4500/- borrowed by him. Find the rate of interest.

mwmaﬁ‘rxsﬁﬁ\iﬁqmm% | 330 &1 oy
g%ﬁﬁqmmﬁ%laﬁaﬁﬁmﬁaﬁa,ﬁ%ér%ﬁqm
. TP & |

Uma can finish a work in 18 days. The same work is finished by Manju in 9
days. In how many days both of them will finish the work while working
together.




T3 19. afya ager FaisEg & waf 10 [ A gon o veley ZTEeT

Folenl  aigdl &l I Fsay & werS 2.6 A o A 17 A
X A gt o fraet eEe wdgen gel| ‘

Amit plans to tile his kitchen floor with square tiles. Each side:of the tile is

10cm. his kitchen is 2.6m long and 1.7m wide. How many tiles will amit
need?

geai 20, 222w oefae wd Bl

256

Find the square root of 2 % :
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Qo 21.

URda 22.

|oS —lll /SECTION - Il
(T TR Ui gich T & )
(Each question carries five marks)

Toh gadorerd 4 @or fohardt o Jfwmar 1025 & Red Rge o
forardh 205 & e 2far 2mey & frardl &7 aiwem 16: B g
qen 22Tar 2y o fhamal o ufaerd Ia oy

A library has 1025 books in all. Out of this 205 books are on Science, 164
books are on Philosophy. Find the % of (i) Science books, (ii) Philosophy
books.

FhET FUol TEd o 1/3 HIBT el Tcoll I el 2/5 HIeT Wt g
D Al &l IAe IGUT T WA FEG 24000 Fv & I WiCo & @
foraen 2 o= &

Akbar gave 1/3" of his savings to his wife 2/5™ to his son. Akbar’s total
saving was Rs 24,000/-. Find the balance amount left with Akbar.
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Ul 23.

T2l 24.

T uFER aed & gHS o TEH fherar & W Tl ram efa &
20 F T X100 N A X 5 F N graaeR B hasl g@S HaTd
THE & THS A FE o ADhd &l

A block of wood is in the form of a cube. Its edge is 4m. How many
rectangular pieces of size 20cm x 10cm x 5cm can be cut from the block if
there is no wastage of wood?

ffrr & amEr aofel me: -
(31} FreafFymorm |0
(&) afemdt @

Explain and draw: -
(a) Intersecting lines
(b) Concurrent lines




Ut 25.

Ul 26.

o1 cafcsal ot @er 3A 60 M & A AN IA W GO 123 Fl HA
& & Fa xfow |

The total age of three persons is 60 years. The ages are in proportion 1:2:3.
What are their ages?

T OGS 15 o1 50 v URT ol 33 & dem 20 @A 30 T ufy o 3 =
TN & T 3T TUF 40 [/ SIS B ¥ U Wl mIar &1 IS goere
T For 3y @Rt weo 3 3 dmar & O I e Tuyr W wifeT I ol

A shopkeeper bought 15 tables at the rate of Rs 50 each, 20 chairs at the
rate of Rs 30 each. He spent Rs 40 on transportation. He sold all the
tables and all the chairs for Rs. 1300/-. Find his gain or loss.




Tal 27. R Ayt & ot 235 & ggua F Bl WOl w e Fa dee qEr
Ry o umE e | #

The angles of a triangle are in the ratio of 2:3:5. Find the angles of the
triangle. Also write the type of the triangle.

‘—"\
TUQal 28. ool Ao el 25 o Y A B 1 wef B o ulfafy 12 & Y B wet C
w1 8Ethel dar afafAfay Fa @ |
The area of a square A is 25cm?. The perimeter of square B is 12cm. what
is the area and perimeter of square C?
it A
B
'_\
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TG 29. T Sleel Wiy UIh o AR aIG U (GTRIRNA ST8T) @ wemsr ¥ Prad miew
RSN AF |y 20 Ul waf A ¥ |

Find the amount required to make a circular path around a garden as shown
in the picture (shaded portion) if the rate is Rs 20 per sq metre.

T2 30. 5 Isml o drata 33 13 of & o T TEd @ QM Bro & BoTaammy
3ol AN o e FHE 12 o B oIS B we o 2nleT oizay T 3& Id
@ |

The average age of 5 boys is 13.years. One more boy joins them and the
average age become 12 years. Find the age of boy who joins last.

$/86 Punch/12—VI—Pl—2 e




EXAM Grace Academy
WOS @ 9T Far /PART-B LANGUAGE ABILITY

Qo 1. Bieoifoma fawadt 3 3 630 Ta gz 15 oiad fafag| (15)
Write 15 sentences on any one of the following topics -

¥y Sftaer & @8
My Ambition in Life

£l

WAl @ AEa
Importance of Games
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129l 2. foroiieiama omEizT ™ &ileT gdar Ueoy f¥E 9@ u2al o 363
AR (3x5=15)

AAAR-TT I dlolol, Teramol arem wieTl, BUrg aren wers, S5 aFal
D dIOTSl, AT PRIoT OTeT  HIoTel, HIdaT HIeToT, AJT WIole, @rarer Ug
faaater aren aTeter, feme @1 wieTw, I W W Brel IRABIY I JHAT B
for o & o Faer 3 e wEa ereRe oagEl ¥ A TH TE B
iy wreter o7 IR FgST o TET e mady oAl SnseTIea!
qqd (o) & Shitn a5 & WwWedl @m gEt & dell W od & BId ©rd
AT ST DA & T ITod TUDHT Th OIeT IJeeT Uel & E Roramr O
gUct B H PR WIeTST B A wendl El oAt o @S T weT
"ol arer diel & ? womal of gd frar & el o onaer ol & e
Zelge 3 IoTal arel slame @& MY & I A TH UK G BT W= ol
ADS T DIt Tladl-eodll et 31 Wolrem o en Sy I U A B
Qaaa @uSl i &, & 5 gt 3 ord) o ver uidier gaad oy
ool & TfeRT 3B 3 AW O FHEA B, 120 T T B

(@) 2o SWaar 3 @ grer aer Eer T & @meT & o
o ?

() nreral ol oy fhater féherm ?
(1) Fgset 3 U weTST WS AT et & P
(&)  dor grueh Bdl o rary Ay weny & ?

(8) Us gaam o 120 e T &, Bl @ BT AFEAT B 7
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Read the following passage carefully and answer the questions that
follow:-

Newspaper, writing paper, printing paper, typing paper, bolting paper,
carbon paper, wall paper, stamp paper — who can deny that paper is one of
the most useful article in man’s daily life? Yet man did not invent paper. The
real inventors are the wasps who pile away tiny wood shavings from fence-
posts and tree trunks and chew them to a fine pulp from which they make
the grey paper walls of their nests. Who were the first paper makers
amongst men? Thousands of years ago the people of Egypt made a kind of
paper from the pith of the papyrus plant, which grew in marshes near the
river Nile. Papyrus paper was made in long rolls, and the books written on it
were rolled up, not cut into pages. One ancient book which is to be seen in
the British Museum in London is a hundred and twenty feet long.

(a) Name three different types of paper which are used in daily life?

Ans.

(b) Who invented paper?

Ans.

(c) Who were the first paper makers amongst men?

Ans.

(d) How do the wasps make paper walls of their nests?
Ans.

(e) Where can an ancient book which is one hundred and twenty feet long
be seen?

Ans.
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U9 3. %m%f@aﬁaa@mamﬁmmmmréaém
wansr| (2x5=10)
W@wﬁM¥ﬁﬁmmem%s f21em s
a“@wwamﬁfémgdﬁﬁmmm%ﬂ &T%Tﬁ‘;fémm
T2 & FaT
o aame NG e
Tt I g
i s A L
B ikl oo AR B0
B e T e
Make a sesﬁence of your own for each underlined word given in the
foliowing Passage. (Do not Copy any sentence from the given
paragraph)

Education piays a very important role in the devslapment of mankind.

The mental and intellectuaj development of a man takes piace due to

edueation. Without education man is like an Animal.

e N

R e 0 T e
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(c) TS TR e L e e i SRR - RS

(d) —mmmmmmmme e S AR
() =

U2el 4 for oC 2% el & TA A Gwaa Qo ard weTse -
(2x5=10)

(@) et /B [ usdr /& [ gatal

Rearrange the jumbled words to form meaningful sentences.

a) of exercise / the oldest form / walking / is / one / of

b) is exceilent / an hour’s walk / fit and fine / for keeping




c¢) than/friend / enemy / a foolish / a wise / is better

d) to/doctor's advice / should / carefully/ your / you/listen

e) vegetables/fresh fruits/sources/and/are/vitamins/of/minerals/and

o2 5 glolah 2T0e! & o vor 2% for=t| (1x5=5)
@hl B ol HEE e e o e
e R THHC o e B 11 NI Sy, Sl
@) O SO A Bl
@ o AT AT BT | o N
B RS ST | S R
Give one word for the following:-
(a) One who makes furniture with wood
(b)  One who designs buildings
(c) A place where wild animals are kept
(d) A place where Christians pray =
(e) One who writes poems
25 6 |l 3T T 3T 2 N g oy | (1x5=5)
W SN O GOl T o i (TRET, W|IL)
o R e S S of TLIeN o Terel =emer Uil (nudh, g
(@) Us J'E UFeg H &l (foredlw, ferefdr)




U2aA 7

€) TE T o, Tew B (@1, D)
(S oRar. . e @e a1 sren marl (@, @)

Choose the correct word from the brackets and fill in the blanks:

(@) These boys have been a great deal of noise. (make,
makes, making)

(b) Good children are by all. (like, liked, liking)

{c) The cattle grazing in the field. (is , are, was)

(d) it heavily last month. (rain, raining, rained)

(e) My teacher told me to —————-eeeev a letter. (write, wrote, written)

o o 2Rt & aera woTey giedw RAsS @ar (2x5=10)

I

o e
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Use each of the word in separate sentences of your own to show the
difference in the meaning of the words of the pairs given below:-

(a) male, mail

(b) pray, prey

(c) break, brake

(d) pour, pore

[R]
fad




Tea 8 Toetafma garaal o o s gael greef & Tarer @marl (2x5=10)

Write the meaning of the following idioms and make meaningful sentences

(a) Hand to hand




uget 9 T Aest & T Sloiegd, fed o FEY B ’a‘n?imm(m%)a%
Biedl 2w R & ¥ BE o a3 (10)

You are Mohan, a resident of Janakpuri, Delhi. Write a letter to your friend
requesting him to spend winter vacation with you.

e
N




Q10 53 o1 23 o7 ox@ &y Galdl (& (e a7 el 10 aiad)
(10)

Lock at the picture and write a story (at least 10 sentences)
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